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Do not take - men RY

Overview

Xnr 92 7 explained the reason for the ruling in our mwn that if one is Wpn two
sisters simultaneously they are not mwTIPn, is because the 7N writes,! X AWK
npn X7 amnR. Our MooIn explains how we derive the rule of the mwn from this
>0,

- 1A 2PMPIY 1Y NP RY WYY
The explanation of PN X7 is you do not have any ‘acquiring’ in her (this woman).

n1voIN asks:
= 3MND 129902 PYITP Y09 INAN 12 ON N2 DX0NN DINPY PRY YHRYN NPN XY ON NN

It is astounding! If npn X indicates that ‘acquisition’ (3°217°2) has no hold
over her (she is not nwTpPn, even if he is WTpPn her), so why are o210 PRN7P by %290
TIRY -

- PN XY 113 2505 KD V1D 1199 DAY NYWIIN 9112 1795 NINYN 19
For instance a widow (marrying) to a 3'"772 or a divorcee or 71X to a regular

172, since mpn RY is written regarding these prohibitions it should teach us that PP PR
oD

N1D0IN answers:
- NPT VYD 5917 19D ¥ KN 195WT NN KT MPNYnm 9T 9119 U

And one can say; that we do not derive it (that 7°090 7PY7TP X by two sisters)
from the implication of the words npn X%, but rather it seems to 11"27 that this is

the explanation of the 05, that —
- 1ION) AYN MINN 7 Y HNNY HNNX 95 WI1999 SHNN N NPNH KY IMINNK YN HYNY

Um,mo (nR) RPN,

2 pmip>> (or acquisition) refers to PUNTP or marriage. The 7N, by writing npn X2 (regarding two sisters) is not only
teaching us that you are prohibited from marrying them, but additionally, that you cannot marry them. The marriage
is invalid; neither of them is your wife.

3 The accepted ruling regarding marrying illicit relationships is that if it is prohibited with a n73 (or 7"°2 nnn)
punishment, the 1w17°p is not 091, however if it is (merely) 1IX? 2> 11 (but no N3), the PYITP is 09N,

4 Regarding a 3"773 the AN writes (77,83 [MR] Xp7), Op> X2 "3 7nx, and regarding a 177 173 the AN writes ( oW
1), P> &2 "2 7w AwR. There is no N1 210 for these transgressions and PWITP is 0930, [78191 is mentioned out of
habit; there is no Xn>»IRTA 1797 78170 NO°KR (only 1327177).]

5 If the 70, by writing fpn &2 Anx % 7wX)1 would (only) mean not to marry your wife’s sister, the 70 could have
written npn X2 JWR MR (or something to that effect), however since the 77N writes 7PN X2 MR X% AWK, this
means that you should not (and cannot) marry them simultaneously. [See ywy i °15 that the inference is since the 7710
wrote ImnR 98 TwR), instead of 7w P& AnINRY (since the wife was married first).] See ‘Thinking it over’.
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‘You should not take (in marriage) a woman with her sister’, simultaneously,
meaning that for each one of the two sisters we apply the rule of w8 nIx.° so

she is forbidden’ -
— 112 PP0VIN PYITP PR (3,10 97 puiTp) MMIND P93 1D NP9 SAUN /NN

And in 92857 P92 we derived that 275 is not ©910 by TWNR NINN -
NN N9 22N
Since she is one of the NS sa»n.

Summary
The P09 of mpn RS AMNKR YK WY prohibits marrying two sisters simultaneously and

considers each one WX MR, We know that \nwR NnR2 1090 PUWITPR 1R, therefore
TW17°P are not 0910 if one marries MR '2 simultaneously.

Thinking it over

nooIN writes that the P10 of [pN K7 AN YR AWXY means even simultaneously.” If
that is the case why was it necessary for n901n to add that each one of them is
considered awx nnx;!% seemingly it is irrelevant under which category they are
prohibited, since the 770 writes mpn XY AMAX 2R 7wX) (which includes two sisters
simultaneously), and the 70 concludes!! that there is a n73 210 for transgressing
this WY, it therefore follows that (M0 >2°°12) PooIN PLITR PRI 12

6 See ‘Thinking it over’.

7 npn XY (per se) does not indicate that 10910 WIT°R PR (therefore by the abovementioned X? *2n, the rule is that
170910 JWT°P), but rather we interpret the P09 of TNIIXR PR AWK to mean (not only are you not allowed to marry your
wife’s sister, after you married your wife, but also) that (even) if you marry two sisters simultaneously, each one is
considered 7wk mnX. Therefore since each one is considered TwR mMnX, we already know that Pw17°p is not 0910 by
TWR NINR, as NMDOIN continues.

8 This is referring to the ‘regular’ case of WX MINX, that if someone marries a woman, he cannot marry her sister
afterwards, and additionally the 1w17°p are not 091n.

% See footnote # 5.

10 See footnote # 6.

1 pa,m (*0R) Xp™ states, Ony 2P NWYT MWD 109N 7987 MAYING 2on qwys WK 93 %0,

12 See mwn nom.
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